Metric conversions:
Okay, here are some for you to try:

3
1 236 ks x0T 5 36.10°
-6
2) 58216 uLx 20 L 1AL g 651610 daL
1ul  1x10' L
12
3) 46.875 TBx 0 B, 1AB _ ) 6875x10° 1B
1TB  1x10° B
-3
8 2206 msx 2205 WA 516108 s
Ims 1x107 s
6
5) 3.78x102 Mgx 0 &, 18 378,100 g
I1Mg 1x10° ¢

Conversion between systems of measure:

There are several “correct” ways of doing these. If you did them in a different way, but got the same answer, then you

did them correctly

3
1) 103 kg><:L><10 5 loz =3.64x10° oz
lkg 283 ¢
79 0 0
2) 653 nm x 20" 1_Alo ~6.53x10° A
1nm 1107 m
3y 6375 pinex 2L 3T L _s5161
8 pint  1lgal
n 07510nx 22000 ke an ke
lon 2.2010b
5 3.89266x107 Ihx—iE_ LAME 1 67, 10° amu
2201 1.6606x107 kg
. 2
6 800 fxi2im, 2odem 1x107m l”’_’: = 2.44%10° um
11t lin 1 1x10"m
3
7 26.22 mile x 009 fm [ Lx107m 1 L —4.219x107 mm
1 mile 1km 1x10™
8) 2.336 gal x S785L InL _ 8.842x10° nL

Problem Solving:

X
lgal 1x107°L

o 3 2 3
9.536x 10 x 123298 Lem” A0 m -5 on 107 e
1p  184g 1
3 . 3
2.500x10° Lx L 1 x( Lin jx L b 299 35 4day
1x10°L 1mL \ 254 545in° 3600 24 hr



